Maths Level – GREEN Higher (Functional Skills Level 1/2)
Topic 1: Number Recap
[bookmark: _Hlk63022686]Aim: The aim this week is to recap on our number skills, looking at percentages, multiplication, division and word problems. 
	Session 1 
	Length of session:  40minutes

	Aim of session: To be able to calculate a percentage of an amount, as well as percentage increase and decrease.

	Important information:
Watch this video to help calculate percentages
Percentages - Video - KS3 Maths - BBC Bitesize
To calculate 10% you divide your amount by 10
To calcualte 1% you divide by 100
To calculate 5% you divide by 100 and then mulitply by 5
To calculate 25% you divide your amount by 4
To calculate 50% you divide your amount by 2
To calculate 30 % you divide your amount by 10 and then times by 3







HOW TO GUIDE:
Example  – Calculate 15% of £50
                      Step 1: £50 ÷ 10 = £5                10% of 50 = 5
                      Step 2: To find 5% we divide 10% by 2            5 ÷2 = £2.50
                      Step 3: Add 10% + 5% = 15%        10%= £5
                                                                                  5%=£2.50  +
                                                                                         = 7.50        15%= £7.50





	Activity 1:
1) 50% of £25.00 =

2) 10% of 770g =

3) Manisha had £125 in her savings, she spent 50% on clothes. How much does she have left?
	

4) Stef had 320 collectors’ cards, he gave away 25% of these cards to his friends. How many did he have left? 


5) James saw new box game he wanted for £30 on sale reduced by 30%. What is the new reduced price of the game?



	HOW TO GUIDE:
To increase an amount by 10% you add 100% + 10% = 110%
EXAMPLE : Calculate 10% increase on £500
                     Step 1: Find 10% of 500               
                                                       500÷10 = £50
                     Step 2: Add 100% + 10%     
                                                      500 +50 = £550                        110% of 500 = £550















	Activity 2

	Increase 210 by 5%



	Increase 19 by 25%
	Increase 97 by 50%

	Decrease 74 by 10%



	Decrease 86 by 21 %
	Decrease 130 by 99%



The price of a car service is £320. It increases by 15%. Work out the new price of a car service.




A pair of jeans cost £32. They are reduced in a sale by 12%. Work out the sale price of the jeans.




CHALLENGE
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Maths Level – GREEN Higher (Functional Skills Level 1/2)
Topic 1: Number Recap
Aim: The aim this week is to recap on our number skills, looking at percentages, multiplication, division and word problems
	Session 2 : 
	Length of session:  40minutes

	Aim of session: To be able be to multiply large numbers and numbers with decimals.  

	Important information
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	Activity 1 : 
[image: ]

When multiplying with decimals, you use the same technique. You just have to remember to add the decimal at the end. 
Estimate your answer by rounding to nearest whole number  e.g. 1x 9 = 9
This will help you make sure that your answer is right (As your answer should be close to the estimated number).
How to Guide:
[image: ]











Activity 2:
[image: ]
1)








2) 21 x 231                                                               3) 450 x 12

4) 4.6 x 3.1                                                                5) 4.5 x 1.2                                                    

6) Cleo earns £5.20 and hour and works 25 hours every week. Remember to use Gelosia

a) What does she earn in one week?


b) What does she earn in 4 weeks?



c) What does she earn in a year?



	


	



Maths Level – GREEN Higher (Functional Skills Level 1/2)
Topic 1: NUMBER RECAP
Aim: The aim this week is to recap on our number skills, looking at percentages, multiplication, division and word problems
	Session 3 :  
	Length of session:  40minutes

	Aim of session: To be able to divide large numbers and use decimals

	Important information:
Watch this video- some of you might have seen it in class.
LONG DIVISION - (Never Give Up) - Math Rap - Bing video
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	Activity 1:
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Activity 2
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EXTENSION TASK
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Maths Level – GREEN Higher (Functional Skills Level 1/2)
Topic 1: Number Recap 
Aim: The aim this week is to recap on our number skills, looking at percentages, multiplication, division and word problems
	Session 3 :  
	Length of session:  40minutes

	Aim of session : To be identify what operation is needed to solve these word problems. 

	Important information:
REMEMBER TO USE GELOSIA FOR MULTIPLYING
BUS STOP METHOD FOR LONG DIVISION
COLUMN METHOD FOR ADDITION AND SUBTRACTION

REMEMBER TO READ THE QUESTION CAREFULLY!


	Activity 1: 
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ACTIVITY 2[image: ]


[image: ]

EXTENSION
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3. The price of a car service is £320. It
increases by 15%. Work out the new price
of a car service.

5.

linvest £800in a bank account which pays
1.25% per annum.

a. Work out how much money | will have
in the account after one year.

4. Anpair of jeans cost £32. They are reduced
ina sale by 12%. Work out the sale price of
the jeans.

b. Work out how much money | will have
inthe account after twoyears. Hint: use
the amount after year 1 as the original.

Challenge

Grace sees a special offer in a shop.

Work out how much money she will save if she buys
the items together instead of separately.

Special Offer

Games Console £280
Game £50
6% discount if bought together
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Watch this video to see an explanation of the Gelosia method.    https://www.youtube.com/watch?v=x2UG0YzT2UA  
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What are the advantages?
+ You are only dealing with multplication facts up to 9x9 and addition
+ Itlooks quite tidy and efficient - it is surprisingly quick

Any disadvantages?

+ Itlooks like a trick — difficult to see the reason why it works
+ Easy toforget the ‘carried number
+ You need lattice paper for the layout

Here is how to calculate 214 x 38.

1. Using the lattice squares with diagonals drawn on them, write 214 along the top and 38 down the.
right of the grid, with one digit for each square.

2. Start with the top right square and multiply together pairs of digits that meet. 4x3 is 12, 50 write the
answer with the tens digit above the diagonal line and the ones below.

3. Continue across for each square and then do the same for the second fow. When itis  single digit
g 1x3, wiite 0 above the diagonal line.

4. Once the lattice is complete, start in the bottom right comer and look at the numbers in line
separated by the diagonals. Working across and reading up. this is (2), (8, 3, 2). (6. 0. 3, 1). (1. 6. 0)
and (0).

5. Add these diagonals up, writing the totals (in red) in line with each square. When the total goes
beyond 9, carry the 1 and write it in the next diagonal

6. Now read the number (in red) from top left down and across to bottom right
It shows that 214 x 38 = 8132

Russian Peasant Method
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Follow this step by step guide on how to do bus stop method.

Watch this video to help to see some examples Mr smith Maths Bus Stop Division - YouTube

Example1: 145:5=

How many fives are there in 1?

145+ 5=

5|1 45

How many are left over?
145 +5=

[
iS5 There was 1 left over so you write that next to the four.

There are no fives in 1, so you write a 0 above the five

How many fives are there in 14?

145 +5=

02
5(1°4 5
There are two fives in 14, (5x2 = 10) so you write the 2 above the four.

How many are left over?
145 +5=

02
5[1°4°s _Thereis four left over so you write four next to the five.

How many fives are there in 45?

145 +5=

0219
]
5/1°4°5
There are 9 fives in 45 (9x5 = 45). So you write the 9 above the five.

The answer is 145 +5 =29
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11. Grandma Jones had £378 which she shared equally between her 7 grandchildren. How
much money did each grandchild receive?

\

12. 1134 train passengers are given tickets to sit in 9 different carriages. How many passengers
are in each carriage?
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For each word problem, underline the key information, write down the calculations and work
out the answers. The problems may involve adding, subtracting, multiplying or dividing.

1. On Sunday I spent 98 minutes on my art project and 35 minutes on my numeracy
homework. On Thursday evening I spent a total of 100 minutes on my homework. What is
the difference between the amount of homework I did on Sunday and Thursday evening?

2. Dad drives a truck. Last week he drove 250 miles on Monday and 145 miles on Tuesday.
This week Dad drove 150 miles in total. What is the difference in mileage between this
week and last week?
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. There are 15 biscuits in a packet. A shop orders 156

packets. How many biscuits will be in the 156 packets?

. A school buys 172 boxes of pencils. Each box has 12

pencils. How many pencils has the school bought?

. A wholesaler sells apples for 17p each. A grocer

buys 197 apples. How much will they cost?

. It takes 18 minutes to make a toy car. How many

minutes will it take to make 205 cars?

. A machine makes 16 dice in a minute. A working day is

264 minutes. How many dice are made in 264 minutes?

. A cinema has 21 screens. Each screen has 297 seats.

How many seats are there in the cinema?

. Eggs are sold in trays of 24. In a week, a farmer sells

372 trays. How many eggs does he sell in one week?

. A bag of nails contains 613 nails. A hardware store

has 23 bags. How many nails are in the 23 bags?

. There are 27 children in a class. Each child pays £749

for a school trip. How much do they pay altogether?

. Afootball club has an average attendance of 859

people to each match. What s the total attendance
for the 29 matches played in a season?
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. There are 15 biscuits in a packet. A shop orders 156

packets. How many biscuits will be in the 156 packets?

. A school buys 172 boxes of pencils. Each box has 12

pencils. How many pencils has the school bought?

. A wholesaler sells apples for 17p each. A grocer

buys 197 apples. How much will they cost?

. It takes 18 minutes to make a toy car. How many

minutes will it take to make 205 cars?

. A machine makes 16 dice in a minute. A working day is

264 minutes. How many dice are made in 264 minutes?

. A cinema has 21 screens. Each screen has 297 seats.

How many seats are there in the cinema?

Eggs are sold in trays of 24. In a week, a farmer sells
372 trays. How many eggs does he sell in one week?

. A bag of nails contains 613 nails. A hardware store

has 23 bags. How many nails are in the 23 bags?

. There are 27 children in a class. Each child pays £749

for a school trip. How much do they pay altogether?

. Afootball club has an average attendance of 859
people to each match. What s the total attendance
for the 29 matches played in a season?
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buys 197 apples. How much will they cost?
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264 minutes. How many dice are made in 264 minutes?

How many seats are there in the cinema?

372 trays. How many eggs does he sell in one week?

has 23 bags. How many nails are in the 23 bags?

for a school trip. How much do they pay altogether?

people to each match. What s the total attendance
for the 29 matches played in a season?
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packets. How many biscuits will be in the 156 packets?

. A school buys 172 boxes of pencils. Each box has 12

pencils. How many pencils has the school bought?

. A wholesaler sells apples for 17p each. A grocer

buys 197 apples. How much will they cost?

. It takes 18 minutes to make a toy car. How many

minutes will it take to make 205 cars?

. A machine makes 16 dice in a minute. A working day is

264 minutes. How many dice are made in 264 minutes?

. A cinema has 21 screens. Each screen has 297 seats.

How many seats are there in the cinema?

Eggs are sold in trays of 24. In a week, a farmer sells
372 trays. How many eggs does he sell in one week?

. A bag of nails contains 613 nails. A hardware store

has 23 bags. How many nails are in the 23 bags?

. There are 27 children in a class. Each child pays £749

for a school trip. How much do they pay altogether?

. Afootball club has an average attendance of 859

people to each match. What s the total attendance
for the 29 matches played in a season?
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1)

2)

3)

4)

Six pencils cost £1.92. Three pencils and one rubber cost £1.21.
What is the cost of one rubber?

A stack of 40 identical toy boxes is 1000cm tall. Markus takes three boxes off the top of
the pile. How tall is the stack now?

Mrs Tunnicliffe is making jam to sell at the county fair. Blackberries cost £5.50 per kg.
Sugar costs 65p per kg. 15 glass jars costs £5.85. She uses 16kg of blackberries and
10kg of sugar to make 15 jars of jam. Calculate the total cost to make 15 jars of jam.

A school orders 12 boxes of dice. Each box contains six bags of dice. Each bag contains
35 dice. How many dice do the school order in total?




